## ORDER: ACCEPT JAIL MEAL LOG AND AFFIDAVIT FROM JAIL ADMINISTRATOR, JOHNNY MCDONALD, PER SECTION 19-25-74

Motion was made by Greg Bynum, duly seconded by Tim Gordon, to accept jail meal log and affidavit from Jail Administrator, Johnny McDonald, per section 19-25-74.

The vote on the motion was as follows:

Supervisor Brent Larson, voted yes Supervisor John Morgan, voted yes Supervisor Tim Gordon, voted yes Supervisor Scott Allen, voted yes Supervisor Greg Bynum, voted yes

After the vote, President Larson, declared the motion carried, this the 18<sup>th</sup> day of November, 2024.

Brent Larson, President Board of Supervisors Mike Roberts, Chancery Clerk

### AFFIDAVIT OF JOHNNY MCDONALD

### STATE OF MISSISSIPPI COUNTY OF LAFAYETTE

Before me personally appeared the undersigned, Johnny McDonald, who being known to me and first duly sworn, deposes and says as follows:

- My name is Johnny McDonald. I am currently the Jail Administrator of the Lafayette County Detention Center. I was appointed to this position by Sheriff F.D. "Buddy" East on June 1, 2013.
- 2. As required by Miss. Code Ann. § 19-25-74, the Lafayette County Sheriff's Department maintains a log, showing the name of each prisoner, the date and time of incarceration and release, to be posted daily, which shall record the number of meals served to prisoners at each mealtime, and the hours of the day served (the "meal log").
- 3. I have reviewed invoice number 2000 22 5865 from Summit Foods dated in the amount of \$7310.06. This invoice is for the feeding of prisoners from 10/19/2020 to 11/1/2024.
- 4. To the best of my knowledge, I find this avoice to be a true and correct match to the meal log in accordance with Mississippi Code Annotated § 19-25-74.
- 5. The meal log is being stored in the County Administrator's office and can be reviewed at any time.

Dated: 11/12/2024

Johnny McDonald

Sworn and subscribed before me this the 12 day of November, 2014

Bereilz J.

My commission expires:

September 23, 2026

OF MISSION ARY PUB SOLUTION TO THE SOLUTION ARY PUB SOLUTION TO THE SOLUTION ARY PUB SOLUTION TO THE SOLUTION ARY PUB SOLUTIO



Bill To:

Lafayette County Detention Center 711 Jackson Street East Oxford MS 38655

INVOICE											
Number	INV2000224977										
Date	10/28/2024										

Salesperson Customer ID	Customer Purchase Order Number	Payment Terms	Due Date	Federal Tax ID						
YOUNG C6115000		Net 30	11/27/2024	26-2223480						
Activity Date Item Number	Description	Quantity	Unit Price	Extended Price						
10/25/2024 C6115000-C6115-030000A	Inmate A.M. Breakfast	448.00	2.17300	973.50						
10/25/2024 C6115000-C6115-030000A	Inmate A.M. Breakfast	615.00	2.11600	1,301.34						
10/25/2024 C6115000-C6115-030000B	Inmate Noon Lunch	298.00	2.17300	647.55						
10/25/2024 C6115000-C6115-030000B	Inmate Noon Lunch	768.00	2.11600	1,625.09						
10/25/2024 C6115000-C6115-030000C	Inmate P.M. Dinner	447.00	2.17300	971.33						
10/25/2024 C6115000-C6115-030000C	Inmate P.M. Dinner	615.00	2.11600	1,301.34						
20,23,234		Sub	total	\$6,820.15						
Please include invoice number	Please include invoice number to ensure proper application of payment and remit to:									
Summit Food Service, LLC	Frei	ght	\$0.00							
P.O. Box 743293	Sale	s Tax	\$477.41							
Atlanta, GA 30374-3293 Phone: (844)855-8474	Tota	ol .	\$7,297.56							





## **Meal Count Sheet**

	Fri 10/2	5		-11w 10b2	! .		We(			Tue 10/2	2		Mor 10/2	1		Sun 10/2	0		Sat 10/1	9	Day/ Date	r
Dimier	רחאט	Breakfast	CHAR	THE REAL PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPERTY AND ADDRESS OF THE PROPERTY ADDRESS OF THE PROPE	Breakfast	Dinner	The state of the s	Breaklast	Dinser		Breakfast	Dinner	Lunch	Breakfast	Dinner	Lunch	Breakfast	Dinner	Lunch	Breakfast	Weal	
152	154	150	<u> </u>	183	5	150	-3- -(J)	101		156	158	157	154	156	150	150	150	147	148	148	inmate	
							The state of the s															
				AND THE PARTY OF T																		Custome
									,													Customer: C6115000 - Lafayette County Detention
																						10 - Lafayet
																						te County
	<b>3</b> 0., 1 <b>3</b> 0.																					
																						Center
		-																				
									-													
				٠.																	<b>-</b>	
	Dinner	Lunich     154       Diniser     152	152 152	Girmar 154   Breakfast 156   Lunch 154   Dinner 152	Limble     153     4       Girvnar     154     155       Breakfast     155     155       Lunch     154     154       Dinnser     152     152	Breakfast     153       Limbh     163       Breakfast     164       Umrak     165       Lunch     164       Dimner     162	Dinner     150       Breakfast     153       Limbi     153       Dinner     154       Breakfast     155       Uninner     156       Dinner     153       Lunch     154       Dinner     153	Lunds   161   16	Breaklast     151       Lunch     151       Dinner     150       Breaklast     153       Lunch     153       Breaklast     153       Lunch     154       Unrorer     155       Lunch     154       Lunch     154       Lunch     154       Lunch     154       Lunch     154       Lunch     154	Diracer:     £2       Creakiast     £3       Diriner     £5       Breakfast     £3       Linch     £4       Cinner     £5       Breakfast     £3       Linch     £4       Cinner     £5       Breakfast     £6       Breakfast     £6       Breakfast     £6       Breakfast     £6       Breakfast     £6       Breakfast     £6	Linch     15h       Diracei:     15g       Breakfast     15j       Breakfast     15j       Breakfast     15j       Linch     15j       Linch     15j       Breakfast     15j       Linch     15j	Breakfast     156       Lunch     156       Obrzeis     151       Breakfast     151       Olimer     150       Breakfast     153       Lunch     153       Breakfast     153       Lunch     154       Dinner     153       Junch     154       Junch     154       Junch     154	Ohmer     157     158       Breakfast     156     156       Lunch     151     2       Piczekiast     151     3       Dimner     153     3       Picakfast     153     3       Lunch     153     3       Picakfast     153     3       Lunch     153     3       Lunch     154     3       Junch     154     3       Junch     154     3	Unrefr   154   157   158   1	Breakfast     150     150       Lunch     154     150       Dinner     157     158     158       Breakfast     151     2     2       Discrete     151     3     3     4       Discrete     153     3     4     4       Breakfast     153     4     4     4       Breakfast     153	Donner     150     450<	Lunch     150 </th <th>  Breakfast   150</th> <th>Dinner     147       Breakfast     150     450       Lunch     150     50     50       Dinner     150     50     50     50       Breakfast     157     50</th> <th>  Lunch   148                                      </th> <th>  Direaticist   148</th> <th>Mail     Inmate     I       Breaklast     148     4     1</th>	Breakfast   150	Dinner     147       Breakfast     150     450       Lunch     150     50     50       Dinner     150     50     50     50       Breakfast     157     50	Lunch   148	Direaticist   148	Mail     Inmate     I       Breaklast     148     4     1



Bill To:

Lafayette County Detention Center 711 Jackson Street East Oxford MS 38655

Atlanta, GA 30374-3293

Phone: (844)855-8474

INVO	OICE
Number	INV2000225565
Date	11/4/2024

Total

\$7,310.06

Salesperson	Customer ID	Customer Purchase Order Number Pa	yment Terms	Due Date	Federal Tax ID
YOUNG	C6115000		Net 30	12/4/2024	26-2223480
Activity Date	Item Number	Description	Quantity	Unit Price	Extended Price
125 8	C6115000-C6115-030000A	Inmate A.M. Breakfast	936.00	2.11600	1,980.58
		Inmate A.M. Breakfast	145.00	2.17300	315.08
		Inmate Noon Lunch	924.00	2,11600	1,955.18
	A Company of the Company of the Company	1	144.00	2.17300	312.91
			924.00	2.11600	1,955.18
			144.00	2.17300	312,91
11/1/2024	4 C6115000-C6115-030000C	Inmate P.M. Diffner	Subt	ntal	\$6,831.84
		Juni	Otal	• *	
Please ir	nclude invoice number	mit to: Trad	le Disc	\$0.00	
	1, 604 1 44 1 4 1 4 1 4 1 4 1 4 1 4 1 4 1 4			ght	\$0.00
			Sale	s Tax	\$478.22





# Customer: C6115000 - Lafayette County Detention Center

		-≅ri 11/	1		Tne 16/3	;	-	₩e 10/0	<del>1</del> 0	-	Tu(	9		Moi 10/2	) 8	,	Sur 10/2	7	***************************************	Sat 10/2	6	Day/ Date
Total Items	Dinner	LUTION	Broakfast	Birer		Orcariasi	THE PARTY OF THE P		Greaklest	A CONTRACT OF THE PROPERTY CONTRACT OF THE PROPERTY OF THE PRO	Lunch	Breakist	Ointer	Lunch	Breakfast	Dinner	CHACH	Greakfast	Dimer	Lunch	Breakfast	Meal
3 2 3	153	153	The second secon	25.54	The second secon	80	And the state of t	Martin Company of Martin Company of State Company of Stat		Colds Marketine Commence of the Commence of the Colds of	154	139	152	103		157	95.7 in the control of the control o	159	156	155	158	inmate
		A contract contract for the contract for	AND THE PROPERTY OF THE PARTY O	Andrew - Western Chapters C. L. Seichel Co. Co. Co.	And in the second control of the second cont				THE PROPERTY AND THE PR	See C												
			The state of the s	The state of the s	The state of the s																	
			A COLOR OF THE PROPERTY OF THE																			
												,,,										
3,217	153	153	152	144	744	145	151		:55	155	154	159	152	153	153	157	158	159	156	155	158	Total